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(2) FKBAFERETR

EEFKIE
EE B K fid 7K oK B oK
¥ OBK | &/ | FH O |EE ORK | B T (E% BERK | R | FH
— AR 4816000 | 26 970 [48| <1 <1 1 12 « ! !
PN 48| 4600 | 4.1 | 210 |48 | 7ERH|7RHH M| 12 | R | R | R
HRIVLROZEDLED 2 |<€0.0003 | <0.0003|<0.0003| — - - - 2 |<0.0003|<0.0003|<0.0003
KWU%@{B‘%% 2 |<0.00005|<0.00005|<0.00005| — - - - 2 |<0.00005|<0.00005|<0.00005
LR OEDILEY 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
R UEDLEY 2 |<0.001 | <0.001|<0.001| 2 |<0.001|<0.001 <0.001| 2 |<0.001]<0.001|<0.001
R CEDLEY 11 0.021 | 0.005 | 0.012 | - | - - - |12 0.004 | 0.001 | 0.002
Aizesbd8 3 <0.002<0.002 | <0.002| 3 |<0.002|<0.002 <0.002| 4 |<0.002 <0.002]<0.002
TR ER 2 <0.004 | <0.004 | <0.004| - - - - 2 1<0.004 | <0.004 | <0.004
" ST AT R UMEES T | 3 ]<0.001]<0.001<0.001| 3 |<0.001|<0.001 <0.001] 4 |<0.001]<0.001 | <0.001
HERER K O HHEEER 2| « <1 a (-1 - - - 2] « <1 <1
B’ |oympozoken 2 | <0.08 | <0.08 | <0.08 | - | - - - | 2<0.08 | <0.08 | <0.08
12 |BRUVRKRCEDES 1] 0.4 | <0.1 | 0.2 | - - - - |12] 0.4 | <0.1 | 0.3
P VRS 2 |<0.0002]<0.0002<0.0002| — - - - 2 |<0.0002|<0.0002| <0.0002
% 1,4-VF %9 2 |<0.005|<0.005|<0.005| - | - - - | 2 /<0.005<0.005 | <0.005
i i%zk§j§3?;$2§23‘* 2 <0.004|<0.004|<0.004| - | - - - | 2 /<0.004|<0.004 | <0.004
5 |Pommrsy 2 <0.002<0.002/<0.002| - | - - - | 2 /<0.002<0.002 | <0.002
FrSruuzFLv 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
5}v7nu:%vy 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
H| vy 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
EREESS -1 - - - [ 3] 0.06 | <0.06 <0.06| 4| <0.06  <0.06 | <0.06
YAzl - - - - | 3 /<0.002|<0.002 <0.002| 4 |<0.002<0.002] <0.002
VAS=E N - - - - | 30.003]<0.001 0.001 |12 0.007 | 0.001 | 0.003
DZ4=1=1.(31] - - - - | 3 /<0.003|<0.003 <0.003| 4 | 0.004 |<0.003 | <0.003
DA=E V=132 N4 - - - - | 3/0.003| 0.002 0.003 |12 0.006 | 0.002 | 0.003
RRER - - - - | 3 ]<0.001]<0.001 <0.001| 4 |<0.001|<0.001]<0.001
MY NEAZ - - - - | 3/0.010 | 0.004 0.007 | 12| 0.019 | 0.006 | 0.011
N oo R - - - - | 3 /<0.003]<0.003 <0.003| 4 | 0.003 | <0.003 ] <0.003
TaeYranryy - - - - | 3]0.004 ] 0.002 0.003 |12 0.007 | 0.002 | 0.004
THEFILL - - - - ] 3 ]<0.001]<0.001 <0.001] 12 |<0.001 | <0.001 | <0.001
AL TIVTFER - - - - | 3 /<0.008]<0.008 <0.008| 4 |<0.008 <0.008] <0.008
ﬂ< i) A0 aa P | A=y 2] <0.1 | <0.1 | <0.1 | 2] <01 | <0.1 <0.1 ]2 <0.1 | <0.1 | <0.1
f TAI=T 2R DA 11| 0.19 | 0.04 | 0.10 [11] 0.03 | <0.01 0.01 [12] 0.02 | <0.01 | 0.01
2 (kB O EDLEW 2| 0.20 | 0.12 | 0.16 | 2 | <0.03 | <0.03 <0.03 | 2 | <0.03 | <0.03 | <0.03
ji SRk OEDLEY 2] <0.1 | <0.1 | <0.1 |2 <0.1 | <0.1 0.1 ] 2| <0.1 | <0.1 | <0.1
N (FNTLREOCEDEY 2| 12 11 12 |- - - - 2| 13 11 12
f’i < H R OEDILED 11| 0.067 | 0.022 | 0.034 [ 11]<0.001|<0.001 <0.001 12]<0.001 | <0.001 | <0.001
bty 11| 22 7 14 | 3] 25 18 21 [12| 25 12 19
E,;Z ANTYb, <Xy L% @E) [ 3| 39 35 37 | - - - - |4 45 33 39
Ry 3| 120 | 100 | 110 | - - - - 4| 120 90 110
g BBAA L R EE A 2 | €0.02 | €0.02 | €0.02 | - - - - 2 | €0.02 | €0.02 | <0.02
IH |Pxd RV 11 {0.000002| <0.000001 | <0.000001| 11 [0.000001|<0.000001 <0.000001| 12 |0.000002 <0.000001 | <0.000001
H 2-AFNAI RNV R —v 11 [<0.000001 | <0.000001 | <0.000001] 11 |<0.000001 |<0.000001 <0.000001| 12 | <0.000001] <0.000001 ] <0.000001
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BE R K

5E B K i K oK B oK
¥ OBK | &/ | FH O |EE ORK | B T (E% BERK | R | FH
Al S|P RETEHER 2 |<€0.002|<0.002| <0.002| - | - - - | 2 1<0.002]<0.002 | <0.002
H % Zx/— VR 2 1<0.0005|<0.0005|<0.0005( — - - - 2 1<0.0005|<0.0005|<0.0005
T |FHe (SAHBR (TOC) O &) 48| 23 0.6 1.9 |48] 08 | 04 06 |12 08 | 0.4 | 06
& & |PHIE 348) 7.5 | 6.7 | 7.3 |348] 7.5 | 1.1 73 |12] 74 | 71 7.3
e ¥ o - - 348 RERL 12 RERL
5 % R %1 [348| R #72U340 ERET HTRE1|348 BERL 12 L8208
2 =Y 11 8.0 | 2.8 | 4.3 [11] <0.5 | 0.5 <0.5 | 12| <0.5 | 0.5 | <0.5
Alr BE 348) 780 | 0.6 | 7.0 [348| <0.1 | <0.1 0.1 [12] <0.1 | <0.1 | <0.1
T FEVRBEDILEY 2 <0.002<0.002/<0.002| - | - - - | 2 ]<0.002]<0.002] <0.002
U7V ROZEDILED 2 |<0.0002|€0.0002|<0.0002| — - - - 2 1<0.0002|<0.0002|<0.0002
=TV ROZEDILE Y 2 <0.002 | <0.002 | <0.002| 2 |<0.002|<0.002 <0.002| 2 | <0.002 <0.002 ] <0.002
1,2-V/unxy 2 1<0.0004|<0.0004|<0.0004| — - - - 2 1<0.0004|<0.0004|<0.0004
Mz 2 <0.040|<0.040|<0.040| - | - - - | 2 /<0.040 | <0.040 | <0.040
TENEEY (- F N~F L) 2 |<0.008 | <0.008 | <0.008| 2 | <0.008|<0.008 <0.008| 2 | <0.008 <0.008] <0.008
X TR SRR - - - - 2 | <0.06 | <0.06 <0.06 | 2 | <0.06 | <0.06 | <0.06
Yrua7 =ML - - - - | 3 ]<0.001]<0.001 <0.001| 4 |<0.001]<0.001]<0.001
" fikras—n - - - - | 31<0.002]<0.002 <0.002| 4 |<0.002|<0.002 | <0.002
T |miem #2 | 3] <01 | <0.1 ] <01 |3]<01 | <01 <01 -] - - -
= BREHER - - - - |348) 0.74 | 0.44 057 |12] 0.62 | 0.44 | 0.50
HANYY D, S FY N (EE) 3] 39 35 37 | -| - - - 4| 45 33 39
R < H ROEDILED 11 0.067 | 0.022 | 0.034 | 11 |<0.001 | <0.001 <0.001| 12 |<0.001 | <0.001 | <0.001
B R 3| 2.2 1.8 1.9 | - - - - 4| 22 1.8 2.0
an  |LLI-N7mnmsy 2 1<0.030/<0.030|<0.030| - | - - - | 2 ]<0.030<0.030]<0.030
AFN—t-TF)LT—F)v 2 <0.002<0.002 | <0.002| 2 |<0.002|<0.002 <0.002| 2 |<0.002 | <0.002 | <0.002
E HHW (RFTHBER (TOC) DR) 48| 23 0.6 1.9 |48] 08 | 0.4 06 [12] 08 | 0.4 | 06
H |RK%E(TON) *3 [ 8] 15 1 5 [ -] - - - -1 - - -
B AEBREY 3| 120 | 100 | 110 | - - - - 4| 120 90 110
BE 348) 780 | 0.6 | 7.0 |348| <0.1 | <0.1 <0.1 [12] <0.1 | <0.1 | <0.1
pHIE 348) 7.5 | 6.7 | 7.3 [348] 7.5 | 7.1 7.3 |12] 7.4 | 7.1 7.3
BEWEGUFITHRE) - - - i B - - |4 20| -2 | 2.1
TR E M 11| 18000 | 2200 | 9300 (11| 5 1 1 f12] 12 1 4
1,1-YruuzFLy 2 <0.010/<0.010/<0.010| - | - - - | 2 /<0.010<0.010 | <0.010
TAI=T 2R DA 11| 0.19 | 0.04 | 0.10 [11] 0.03 | <0.01 0.01 [12] 0.02 | <0.01 | 0.01
PFOS &% U'PFOA 3 ]<£0.000005 | <0.000005| <0.000005( — - - - 4 |<0.000005| <0.000005 | <0.000005
AR 348| 17.1 | 1.4 | 7.9 (348 17.2 | 2.0 8.7 [12]| 18.1 | 3.5 | 10.4
BXYRER 348 219 55 118 |348) 228 76 140 |12] 179 96 148
< BRI (Y= 2 i) 48| 75 <1 7 - - - - - - - -
D |TUESTERES 48| 0.03 | <0.02|<0.02| - | - - - -1 - - -
# B~ Ay 11 0.052 | 0.005 | 0.018 | - | - - - -1 - - -
TIVHYEE 3| 23 21 22 | -| - - - |4 23 19 21
= AN 3| 1 10 1mn |- - - - |4 13 10 12
B [=Z/%iva 3] 26 | 20 | 23 |-] - - - 4] 27 1.8 | 2.2
VDN 3] 2.0 1.7 1.8 | -| - - - 4] 23 1.7 1.9
SRAMEIR L (E260) 348| 0.992 | 0.099 | 0.170 |348| 0.082 | 0.032 0.049 [ 12| 0.061 | 0.032 | 0.043
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BIIEKIS

EH S B oK Bid K oK B oK

E%| Bk | B | R |E%) Bk | B | ) |EE Bk | B | B |EE| Bk | B | B

— R 516100 14 [ 51051 | <1 | <1 | <1 J12] <1 | <1 | <1 12| <1 | <1 [«
N 511600 | 4.1 | 110 | 51 | Fig | Rt | T 12 | FigH | Tl | Fi| 12 | R | TR | TRl
HRIV LR OZDILEY 2 |<0.0003|<0.0003|<0.0003] = | = - -1 - - - = | 2 |<0.0003|<0.0003|<0.0003
KBROZDILED 2 | <0.00005 <0.00005] <0.00005] — | = - - |- - - = | 2 |<0.00005] <0.00005| 0.00005,
LU ROZEDLEY 2 [<0.001/<0.001/<0.001] = | - - - -1 -1- = | 2 |<0.001]|<0.001]<0.001
SR OZEDLED 2 |0.001<0.001|<0.001] 2 |<0.001|<0.001|<0.001] 2 |<0.001|<0.001|<0.001[ 2 |<0.001|<0.001]<0.001
LR KR CEDILEY 1210.023/0.0040.013) - | - | - | - [ -] - | - | - |12]0.004/0.001]0.002
Nz e b &% 4 |<0.002|<0.002| <0.002] 4 |<0.002|<0.002|<0.002] 4 |<0.002|<0.002|<0.002[ 4 |<0.002|<0.002|<0.002
TR ER 2 [<0.004/<0.004/<0.004] = | - - - -1 -1- = | 2 |<0.004] <0.004 | <0.004
" ST AAA U R OSEAES TV | 4 |<0.001[<0.001| <0.001| 4 |<0.001<0.001|<0.001] 4 |<0.001]<0.001<0.001| 4 |<0.001|<0.001]<0.001
THEERRZE 3R OV AR R 3R 2 << (Al -| - -]l -]-|-]l-]l-]l2/aj<«x]«
B> mpozoikan 2 |<0.08/<0.08/<0.08)| - | - | - | - | -] = | = | = | 2 |0.08/<0.08/<0.08
12 |BRVRKR DS 12] 0.6 |<0.1| 0.2 - | - - -1-1 - - - |12 0.4 | <0.1| 0.3
M LR R 2 | <0.0002<0.0002| <0.0002| = | — - - |- - - = | 2 |<0.0002<0.0002| <0.0002
% 1,4-UFFH9 v 2 |<0.005|<0.005<0.005| — | — - - |- - - = | 2 |<0.005|<0.005| <0.005
i ;;;;—21_2/—?;;::;50 2 |<0.004<0.004/<0.004| — | — - - |- - - = | 2 [<0.004<0.004 | <0.004
3 vraairzs 2 |<0.002|<0.002|<0.002) — | — - -1 -1 - - — | 2 |<0.002]<0.002|<0.002
ThormuxFLv 2 |<0.001<0.001/<0.001| — | — - - |- - - - | 2 |<0.001<0.001 | <0.001
® N/arTFL 2 |<0.001<0.001/<0.001| — | — - - |- - - - | 2 |<0.001<0.001 | <0.001
H |y 2 |<0.001<0.001/<0.001| — | — - - |- - - - | 2 |<0.001|<0.001 | <0.001
g |[HERER = | = | = | = | 4]<0.06/<0.06]<0.06] 4 |<0.06]<0.06/<0.06| 4 |<0.06|<0.06|<0.06
Jaufig - - - - | 4 [<0.002|<0.002|<0.002| 4 |<0.002|<0.002|<0.002| 4 |<0.002|<0.002|<0.002
PA=1=% V) - - - - 4 10.003]<0.001/0.001] 4 [0.007/0.001/0.004| 12 |0.008|0.002|0.005
Da=1=1(""] - - - - | 4 |0.003|<0.003|<0.003] 4 |0.005]<0.003|<0.003[ 4 |0.006]<0.003|<0.003
DA=SA=1=5. D - - - - 4 10.002|0.001{0.002| 4 |0.006/0.003/0.004( 12 [0.009|0.002|0.005
RR - - - - | 4 [<0.001]<0.001|<0.001| 4 |<0.001|<0.001|<0.001| 4 |<0.001 <0.001|<0.001
KRU B RAZ - - - - 4 10.007]<0.004|<0.004] 4 [0.018/0.007/0.013[ 12 |0.025|0.008/0.015
[WPA=g=i33 - - - — | 4 |<0.003]<0.003|<0.003] 4 |0.005]<0.003|<0.003[ 4 |0.006]<0.003|<0.003
PA=S AT - - - - 4 10.003]/0.001/0.002] 4 [0.007/0.003/0.005( 12 [0.009|0.003|0.006
TaEHR/V A - - - — | 4 |<0.001|<0.001|<0.001] 4 |<0.001]|<0.001|<0.001 12 |0.001]<0.001|<0.001
FIVLT VTR - - - — | 4 |<0.008]<0.008|<0.008] 4 |<0.008|<0.008|<0.008[ 4 |<0.008<0.008|<0.008

ﬂ< CRAY Ol A=) 2 <0.1/<0.1]<0.1| 2 |<0.1]<0.1|<0.1| 2 |<0.1|<0.1/<0.1| 2 |<0.1|<0.1|<0.1
ﬁ TN LR OZEDIEED 12/0.21]0.04|0.11) 12| 0.03 |[<0.01]| 0.01] 12 | 0.02 |<0.01|<0.01]| 12 | 0.02 |<0.01|<0.01
B SFROZDILED 2 10.40]0.11]0.26]| 2 [<0.03]<0.03/<0.03] 2 [<0.03]|<0.03|<0.03| 2 |<0.03]<0.03/<0.03
f. AR OZEDOLED 2 1<0.1]/<0.1]<0.1] 2 [<0.1]<0.1/<0.1] 2 |<0.1]/<0.1]<0.1] 2 [<0.1]<0.1)|<0.1
R NFIIT LR OEDILED 2|18 [ 6.8 12 | - - - - - - - - 2|15 | 12 | 14
é <AV ROZEDILED 12 0.10(0.017/0.030] 12 |<0.001]<0.001|<0.001| 12 |<0.001|<0.001|<0.001| 12 |<0.001|<0.001 | <0.001
R |4 12129 | 7 | 15| 4| 24| 20| 21 |4 23| 16 | 21 [12] 26 | 13 | 20
E,;Z ANTTL, TR L () | 4| 44 | 26 | 36 | -| - | - | - |- - | - | - |4]|45 | 3239
| RREREY 419 |5 |8 |- -] -] -|]-] -] -] - ]4|120]| 80 | 100
—g REA A SRS A 2 [€0.02]<0.02|<0.02| - | - | = | = | -] = | = | = | 2 |£0.02/<0.02|<0.02
I [PxArI 12 |0.000001 | <0.000001 | <0.000001) 12 | 0.000002| <0.000001 | <0.000001] 12 |0.000002] <0.000001| <0.000001] 12 |0.000001| <0.000001 | <0.000001
R 2-AFNAI RNV FRE—IV 12 | 0000001 <0.000001 | <0.000001] 12 | <0.000001 <0.000001 <0.000001 12 | c0.000001  <0.000001 | <0.000001] 12 | <0.000001 | <0.000001 | c0.000001
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BIIEKIS

EH S B oK Bid K oK B oK
E%| Bk | B | R |E%) Bk | B | ) |EE Bk | B | B |EE| Bk | B | B
Y/ g FAA FETEA 2 |<0.002<0.002|<0.002| — | — - - |- - - - | 2 [<0.002|<0.002 | <0.002
H g 7= )—/VER 2 |<0.0005|<0.0005|<0.0005| — - - - - - - - 2 |<0.0005| <0.0005 | <0.0005
Z M (2HBRFE (TOC) &) 51| 11 | 0.6 | 15(|h1| 10 03] 06|12 08| 04 )06[12] 0.8] 0.4 0.6
& i pHE 365 7.6 | 7.1 | 731365 74 |71 | 7212|7471 |73|12|74]71]73
R |3 - - 365 REARL (12  REAL |12  E¥AL
- %'g; B 1 365 mmaissommnsnoni|365]  EEAL 12| mEAL |12 REAL
5 |BE 12| 87| 25| 45)12] 0.6 |<0.5/<0.5[12|<0.5|<0.5]<0.5]12]<0.5|<0.5|<0.5
R ? BE 365 300 | 0.5 | 4.5 1365/ <0.1]<0.1<0.1]12|<0.1]<0.1]<0.1)12]<0.1]<0.1)<0.1
T TV ROEDILED 2 |€0.002|<0.002(<0.002| = | - - -1 - - - = | 2 |<0.002|<0.002 | <0.002
U5 R OZEDLEY 2 | <0.0002|<0.0002|<0.0002) = | — - -|1-1 - - - | 2 |«0.0002| <0.0002|<0.0002
=y NVEROZEDED 2 |<0.002<0.002| <0.002] 2 |<0.002|<0.002|<0.002] 2 |<0.002|<0.002|<0.002| 2 |<0.002|<0.002]<0.002
1,2-Y/unxy 2 |<0.0004[<0.0004|<0.0004| — - - - - - - - 2 |<0.0004| <0.0004 | <0.0004]
MLy 2 |<0.040<0.040<0.040| — | — - - |- - - = | 2 [<0.040|<0.040 | <0.040
TENVBEY 2-=F N ~FI) 2 |<0.008]<0.008| <0.008] 2 |<0.008|<0.008|<0.008] 2 |<0.008<0.008|<0.008[ 2 |<0.008]<0.008|<0.008
A i - = | = | = | 2]<0.06<0.06]<0.06] 2 |<0.06]<0.06/<0.06| 2 |<0.06|<0.06|<0.06
YruuyEb=rI)v - - - — | 4 |<0.001]<0.001|<0.001] 4 |<0.001|<0.001|<0.001( 4 |<0.001]|<0.001|<0.001
" wAKIBIT—N - - - — | 4 |<0.002]<0.002|<0.002] 4 |0.002]<0.002|<0.002[ 4 |0.002]<0.002|<0.002
g |BRE *2 | 4 [<0.1[<0.1]<0.1| 4 [<0.1]<0.1]<0.1f~-| - | - | - |- - | - | -
i BREHER - - - - |365/0.88]0.44/0.61]12|0.62|0.44|0.51) 12 0.54|0.36 | 0.44
INYY LB, =T Ry LE (FRE) 4| 44 | 26 | 36 | - - - - - - - - 4| 45 | 32 | 39
R <AV ROZEDILED 12 0.10{0.017/0.030] 12 |<0.001]<0.001|<0.001| 12 |<0.001|<0.001|<0.001| 12 |<0.001|<0.001|<0.001
B (R 42518 |21 |- - | - | -|-] -] -] -[4]23]|18]21
=1 1,L,1-Nuuxfz 2 |<0.030|<0.030(<0.030| = | - - -1 - - - - | 2 [<0.030/<0.030 | <0.030
AFN—t-TF Nz —T 2 |<0.002|<0.002| <0.002] 2 |<0.002|<0.002|<0.002] 2 |<0.002|<0.002|<0.002[ 2 |<0.002|<0.002|<0.002
2 M (2H KRR (TOC) DE) 51| 11 | 0.6 | 1.5 |b1| 1.0 0.3 | 0.6 12| 0.8 | 0.4 | 0.6 12| 0.8 | 0.4 | 0.6
B |RXE (TON) #3 |96 | 1| 2 |- -| -] -]-1l-]=-1=-|-1-1-71-
B RREREY 419 |5 |8 |- -] -] -|]-] -] -] - ]4|120]| 80 | 100
BE 365| 300 | 0.5 | 4.5 |365| <0.1]<0.1<0.1]12|<0.1]<0.1]<0.1)12]<0.1]<0.1)<0.1
pHE 365 7.6 | 7.1 | 731|365 7.4 | 7.1 | 7212|7471 |73|12|7.4]71 |73
BEM (G 7 THRE) -l -l -l =)=l =-f === -] -] - ]4]-17/-21-19
RN 12 |31000| 1400|11000{ 12| 5 | <1 | <1 |12] 11 | <1 | 1 |12] 12 | <1 | 3
1,1-Y/unzFL 2 |<0.010|<0.010|<0.010f — | — - i B - — | 2 |<0.010|<0.010|<0.010
TN LR OZEDIEED 12/0.21]0.04|0.11) 12| 0.03 |[<0.01]| 0.01] 12 | 0.02 |<0.01|<0.01]| 12 | 0.02 |<0.01|<0.01
PFOS & U'PFOA 4 | 0.000005] <0.000005] <0.000005| — - - - - - - - 4 | 0.000005] <0.000005] <0.000005
KR 365/ 18.1| 1.4 | 8.4 |365/17.2| 1.6 | 8.3 ]12|16.8| 2.8 | 9.3 |12/18.2| 4.3 |11.4
ERBER 365| 235 | 59 | 121|365 228 | 77 | 129 12| 179 | 100 | 146 [ 12| 190 | 96 | 149
€ KR (VLY = H) 51| 25 | <1 | 4 | -] - - - |- - - i - -
D |(TrE=THERER 51]0.02(<0.02(<0.02| - | - | - | = |- = | = | = |- -] -1+
it B~ 12 0.082|0.006/0.021] — - - - - - - - - - - -
TIVHVE 422 | 17 | 20 | - - - - - - - - 4|22 | 18 | 21
= TNTT L 413 |76 ] 10 | - - - - - - - - 4|13 | 10 | 12
B |=Z/%xvva 412816 22| - - - - - - - - 4129|1722
VT 2 413112 21| - - - - - - - - 4126|1822
SRIBRIE O E (E260) 365/0.889/0.107]0.172|365/0.096/0.0290.048] 12 |0.057]0.031]0.043]| 12 10.054]0.031/0.042

*1 JFKIZBO T JIKARDO RN (R, HR) IXTRE 1220,
%2 FRIEOMEIDL, FTRHRE BEEIZERELICLDOTHD,
*3 RRUCEEZRUISBE D HRBRE EHE,
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F$F % KiS

5E B K i K oK B oK

¥ OBK | & | FH O |EE ORK | B T (E% ERK | & | FH

— AR - - - - - - - - |12] « ! !
KB - - - - -1 - - - |12 | R | AR | AR
HRIVLROZEDLED - - - - - - - - 2 |<0.0003<0.0003|<0.0003
KPR OZDILED - - - - - - - - 2 <0.00005|<0.00005| <0.00005
LU RUEDLEY - - - - |- - - - | 2 ]<0.001<0.001]<0.001
SR OZEDLED - - - - - - - - 2 [<0.001 | <0.001 | 0.001
R CEDLEY - - - - -1 - - - |12 0.003 | 0.001 | 0.002
Afizesfb&# - - - - - - - - 4 1<0.002 | <0.002 | <0.002
TR ER - - - - - - - - 2 1<0.004 | <0.004 | <0.004
- ITALAE RO T | - | - - - -1 - - - | 4 1<0.001]<0.001]<0.001
HIERER R O HEMBRER - - - - |- - - - |2 « ! !
B’ |oympozroken - - - - - - - - 2 | €0.08 | <0.08 | <0.08
1z [RURECEDLES -1 - - - -1 - - - |12] 05 | <01 | 0.3
B PR AL R 38 - - - - - - - - 2 [<0.0002|<0.0002| <0.0002
L,4-UFF P - - - - |- - - - | 2 1<0.005]<0.005 | <0.005
i af;;;’—zf;/z;;;zggfw - - - - -] - - - | 2 1<0.004]<0.004 | <0.004
3 [Vruursy - - - - -1 - - - | 2 ]<0.002]<0.002] <0.002
FhormuzFL - - - - -1 - - - | 2 1<0.001]<0.001]<0.001

® NJunzsFL - - - - -1 - - - | 2 1<0.001]<0.001]<0.001
H| vy - - - - -1 - - - | 2 1<0.001]<0.001]<0.001
EREESS - - - - -] - - - | 4] 0.10 | <0.06 | <0.06
VAai=ii(d - - - - - - - - 4 1<0.002 | <0.002 | <0.002
VA== DN - - - - -1 - - - |12] 0.008 | 0.002 | 0.004
A== (513 - - - - - - - - 4 | 0.005 | <0.003|<0.003
DA=S V==Y M4 - - - - -1 - - - | 127 0.008 | 0.002 | 0.004
RRER - - - - |- - - - | 4 ]<0.001<0.001]<0.001
BRY~NaRAZ - - - - -1 - - - |12] 0.022 | 0.006 | 0.013
(WP Amiali({ - - - - - - - - 4 | 0.005 | <0.003] <0.003
TueYruuizy - - - - -1 - - - |12] 0.008 | 0.003 | 0.005
ARSI - - - - -1 - - - |12] 0.002 | <0.001|<0.001
AVLTVFER - - - - -1 - - - | 4 /<0.008<0.008] <0.008
K |HESETEDL A -1 - - - -1 - - - |2 <. | <01 | <01
n’%wvs:m\wﬁ%m%}% - - - - - - - - |12] 0.02 | <0.01 | €0.01
2 B TEDLAE Y - - - - - - - - 2 | <0.03 | <0.03 | <0.03
ﬁﬁﬂ&rﬁ%wﬁé% - - - - - - - - 2| <0.1 | <0.1 | <0.1
N |FNTEROEDLE Y -1 - - - -1 - - - 2| 13 12 13
§~vyﬁyﬁw%@mé% - - - - - - - - | 12]<0.001|<0.001 | <0.001
bty - - - - |- - - - |12] 29 13 20
%ﬁ/vvﬁl—\, RTRVYLE (FEE) | - - - - - - - - 4| 45 32 40
(RS - - - - -] - - - | 4] 130 | 90 | 110
g~@4ﬁyﬁﬁ%ﬁﬂ - - - - |- - - - | 2<0.02 | <0.02 | <0.02
JS CxF AV - - - - - - - - 12 /0.000001 | <0.000001 | <0.000001

2-AFNAI RNV R —v

12

<0.000001 | <0.000001 | <0.000001
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F$F % KiS

5E B K i K oK B oK
¥ OBK | & | FH O |EE ORK | B T (E% ERK | & | FH
X % FAZ S TE A - - - - - - - - 2 1<0.002 | <0.002 | <0.002
H ;; Zx/— VR - - - - - - - - 2 1<0.0005|<0.0005|<0.0005
T At (2 AR (TOC) OR) - - - il e - - |12] 08 | 04 | 06
£ é pHIE 3| 74 | 74 | 74 |3 11 70 7.1 |12) 74 | 11 7.2
e R g - - 3 RERL 12 REHRL
- %'g; B # |3 RERL 3 REARL 12 RERL
3 |BE - - - - - - - - [12] 05 | 0.5 | 0.5
R ? BE 3| 2.8 1.9 | 2.3 [3] <0.1 | <0.1  <0.1 [12] <0.1 | <0.1 | <0.1
T FEVROZEDILEY - - - - - - - - 2 [<0.002 | 0.002 | <0.002
U5 ROEDEY - - - - - - - - 2 ]<0.0002|<0.0002|<0.0002
=NV R OZEDILEY - - - - - - - - 2 <0.002 | 0.002 | <0.002
1,2-V/unxy - - - - - - - - 2 1<0.0004|<0.0004|<0.0004
Mz - - - - -1 - - - | 2 1<0.040]<0.040 <0.040
TENEEY (- F N~F L) - - - - |1-] - - - | 2 ]<0.008]<0.008] <0.008
X TR SRR - - - - - - - - 2 | <0.06 | <0.06 | <0.06
Yrua7 =L - - - - |1-] - - - | 4 1<0.001]<0.001]<0.001
" fikras—i - - - - |1-] - - - | 4] 0.003 |<0.002] <0.002
E |mmm ¥ | - | - - - |- - - - -1 - - -
= BREHER - - - - 3] 044 | 038 041 |12] 052 | 0.34 | 0.43
ISR, T RY B (R - - - - -1 - - - 4| 45 32 40
R <V H ROEDILED - - - - - - - - ]12]<0.001<0.001]<0.001
B R - - - - |- - - - |4 22 | 1.8 | 21
z |LLI-NZumxziy - - - - |- - - - | 2 ]<0.030|<0.030]<0.030
AFN—t=TFNT—T )L - - - - |-] - - - | 2 [<0.002]<0.002 | <0.002
E HHW (RFTHBER (TOC) DR) - - - - -] - - - |12 08 | 0.4 | 06
B |R&EE (TON) #3 | - | - - - -1 - - - -1 - - -
B HEBREY - - - - - - - - 4| 130 90 110
BE 3| 2.8 1.9 | 233 [ 3] <01 | 0.1 <0.1 |12] <0.1 | <0.1 | <0.1
pHIE 3| 74 | 74 | 74 | 3] 71 7.0 7.1 [12] 74 | 71 7.2
BEWEGUFITHRE) - - - i B - - |4 -1.7 | 2.2 | 2.0
TR E M - - - - -1 - - - 12| 6 1 1
1,1-YruuxzFLy - - - - -1 - - - | 2 /<0.010<0.010 | <0.010
TNI=Y LK OZEDEY - - - - - - - - |12] 0.02 | <0.01 | €0.01
PFOS % U'PFOA - - - - - - - - 4 ]<0.000005| <0.000005 | <0.000005
AR 3| 59 | 45 | 52 [3] 5.6 | 46 5.0 |12 18.8 | 3.7 | 11.3
BXYRER 3| 118 | 103 | 113 | 3| 146 | 128 138 [12]| 198 97 152
< BRI IERE (V=LY 2 ) -1 - - - -1 - - - |- - - -
D |\ TrE=TERER - - - - - - - - - - - -
i B~ - - - - - - - - - - - -
TIVHVE - - - - - - - - 4| 21 18 22
= AN - - - - -1 - - - 4] 14 10 12
B [=Z/%iva - - - - |- - - - 4] 28 1.7 | 23
VDN - - - - -1 - - - 4] 20 1.8 | 2.0
SRAMEIR L (E260) 3 10.126 | 0.115 | 0.119 | 3 | 0.038 | 0.034 0.036 [ 12 | 0.055 | 0.029 | 0.041

*1 JFOKIZEBOT M IIARARD RN (R, LR) IITRF LiTLaR,

*2 BIFEOMIT. FTHRHRE BEEIZEELLLDOTHD,

*3 RRUCHEFEZRUIBEICDHRABRE EHE,
o THEREE TFICHEOW AR ABE L D728 3H 28 H ETHRUK BLKIIRAL #aAKRAKIZHNEAZLIEK,
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=BT % KIS

EE B K fid 7K oK B oK

¥ OBK | & | FH O |EE ORK | B T (E% ERK | & | FH

— AR 51| 2600 | 12 320 |51 <1 <1 1 12 « ! !
PN 51| 580 | <1.0 | 54 |51 |7FEeH|7RikH M| 12 | R | FHH | R
HRIVLROZEDLED 2 |<€0.0003 | <0.0003|<0.0003| — - - - 2 |<0.0003|<0.0003|<0.0003
KWU%@{B‘%% 2 |<0.00005|<0.00005|<0.00005| — - - - 2 |<0.00005|<0.00005|<0.00005
LU ROZEDILEY 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
R UEDLEY 2 |<0.001 | <0.001|<0.001| 2 |<0.001|<0.001 <0.001| 2 |<0.001]<0.001<0.001
R CEDLEY 12| 0.004 | 0.001 | 0.003 | - | - - - | 12]<0.001<0.001 | <0.001
Aizesbi4 4 [<0.002<0.002 | <0.002| 4 |<0.002|<0.002 <0.002| 4 |<0.002 <0.002]<0.002
TR ER 2 1<0.004|<0.004|<0.004| - | - - - | 2 /<0.004]<0.004 | <0.004
" ST AT RO T | 4 <0.001 ] <0.001 | <0.001| 4 |<0.001|<0.001 <0.001] 4 |<0.001]<0.001 | <0.001

HERER K O HHEEER 2| « <1 a (-1 - - - 2] «a <1 <1
B’ |oympozroken 2 | <0.08 | <0.08 | <0.08 | - | - - - | 2<0.08 | <0.08 | <0.08
12 |BRUVRKRCEDLES 12| <€0.1 | <0.1 | <0.1 | - - - - |12] <0.1 | <0.1 | <0.1
P vIRSE 2 |<0.0002|€0.0002|<0.0002| — - - - 2 |<0.0002|<0.0002|<0.0002
% L,4-UFF P 2 |<0.005|<0.005|<0.005| - | - - - | 2 /<0.005<0.005 | <0.005
i i%zkijiﬁiiii§23‘* 2 <0.004|<0.004|<0.004| - | - - - | 2 /<0.004|<0.004 | <0.004
5 |Pommrsy 2 <0.002<0.002/<0.002| - | - - - | 2 /<0.002<0.002 ] <0.002
FrSruuzFLv 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
5}v7nu:%vy 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
H| vy 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
EREESS -1 - - - | 4] 007 |<0.06 <0.06]|4]| 0.07 | <0.06 | <0.06
YAzl - - - - | 4 /<0.002|<0.002 <0.002| 4 |<0.002<0.002 ] <0.002
VAS=E N - - - - | 40.007 |<0.001 0.003 | 12| 0.009 | <0.001| 0.003
A== (513 - - - - | 40.004 |<0.003 <0.003| 4 | 0.004 |<0.003|<0.003
DA=E V=132 N4 - - - - | 40.002]| 0.002 0.002 |12 0.003 | 0.001 | 0.002
RRER - - - - | 4 ]<0.001]<0.001 <0.001| 4 |<0.001|<0.001]<0.001
BEYmREZ - - - - | 40.014 |<0.004 0.008 | 12| 0.017 | <0.004| 0.008
N oo R - - - - | 40.004|<0.003 <0.003| 4 | 0.005 | <0.003 ] <0.003
TaeYranryy - - - - | 40.005] 0.002 0.004 |12 0.006 | 0.001 | 0.003
THEFILL - - - - | 4 ]<0.001]<0.001 <0.001] 12 |<0.001 | <0.001 | <0.001
AILLT VTR - - - - | 4 /<0.008]<0.008 <0.008| 4 |<0.008 <0.008] <0.008
ﬂ< i) A0 aa P | A=y 2] <0.1 | <0.1 | <0.1 | 2] <01 | <0.1 0.1 ] 2| <0.1 | <0.1 | <0.1
f TAI=T 2R DA 12| 0.23 | 0.04 | 0.09 [12] 0.02 | <0.01 <0.01|12] 0.03 | <0.01 | 0.01
2 (kB O EDLEW 2| 0.17 | 0.17 | 0.17 | 2 | <0.03 | <0.03 <0.03 | 2 | <0.03 | <0.03 | <0.03
ji SRk OEDLEY 2] <0.1 | 0.1 | 0.1 | 2] <0.1 | <0.1 0.1 ] 2| <0.1 | <0.1 | <0.1
N (FNTLEOCEDEY 2| 1.8 7.3 76 | -] - - - 12| 99 | 9.0 | 95
f’i <~ H R OEDILED 12| 0.045 | 0.011 | 0.027 [ 12]<0.001 | <0.001 <0.001 12]<0.001 | <0.001 | <0.001
bty 12 11 6 8 4| 16 11 12 |12] 21 9 12
E,;Z ANTYb, v Xy LE@E) [ 4| 41 31 38 | -| - - - 4] 4 32 39
(RS 4 | 100 80 9 | - - - - 4| 100 90 100
g BBAA L R EE A 2 | €0.02 | €0.02 | €0.02 | - - - - 2 | €0.02 | €0.02 | <0.02
IH |Pxd R 12 {0.000001|<0.000001 | <0.000001| 12 [0.000001|<0.000001 <0.000001| 12 |0.000001] <0.000001 | <0.000001
H 2-AFNAI RNV R —v 12 {<0.000001 | <0.000001 | <0.000001] 12 |<0.000001 | <0.000001 <0.000001| 12 | <0.000001] <0.000001 ] <0.000001

-128-




=BT % KIS

5E B K i K oK B oK
¥ OBK | & | FH O |EE ORK | B T (E% ERK | & | FH
VIS % FAA FETEEA] 2 <0.002 | <0.002| <0.002| - | - - - | 2 [<0.002]<0.002 | <0.002
H ;; Zx/— VR 2 1<0.0005|<0.0005|<0.0005( — - - - 2 1<0.0005|<0.0005|<0.0005
T At (2 AR (TOC) OR) 51| 3.8 | 05 1.0 |51] 09 | 03 06 |12] 08 | 03 | 05
& é pHIE 365 7.6 | 7.0 | 7.4 |35 7.4 | 712 73 |12| 74 | 12 | 13
e R g - - 365 AL 12 BEAL
- %'g; Bs 1 [365 RA/2L364 EIERL [365 HERL 12 RERL
3 |BE 12| 10 1.6 | 4.0 [12] 0.5 | 0.5 0.5 |12] <0.5 | <0.5 | 0.5
H ?%E 365 20 0.2 1.3 365 <0.1 | <0.1 <0.1 |12] <0.1 | <0.1 | <0.1
T FEVROEDILEY 2 1<0.002<0.002|<0.002| - | - - - | 2 /<0.002<0.002 | <0.002
U7V ROZDOILED 2 |<0.0002|€0.0002|<0.0002| — - - - 2 |<0.0002|<0.0002|<0.0002
=TV ROZEDILE Y 2 1<0.002<0.002 | <0.002| 2 |<0.002<0.002 <0.002| 2 |<0.002|<0.002 | <0.002
1,2-V/unxy 2 |<0.0004|<0.0004|<0.0004| — - - - 2 1<0.0004|<0.0004|<0.0004
Mz 2 1<0.040]<0.040|<0.040| - | - - - | 2 1<0.040]<0.040 <0.040
TENEEY (- F N~F L) 2 <0.008<0.008| <0.008| 2 |<0.008<0.008 <0.008| 2 | <0.008|<0.008 | <0.008
X TR SRR - - - - 2 | <0.06 | <0.06 <0.06 | 2 | <0.06 | <0.06 | <0.06
Yrua7 =L - - - - | 4 [<0.001]<0.001 <0.001| 4 |<0.001]<0.001]<0.001
" fikras—i - - - - | 4 /<0.002|<0.002 <0.002| 4 |<0.002<0.002] <0.002
T |miem *2 | 4] <01 | <0.1 | <01 | 4] <01 | <1 <01 -] - - -
= BREHER - - - - |365 0.56 | 0.36 0.44 |12] 0.50 | 0.34 | 0.42
HANYY D, S FY N (EE) 4] 4 31 38 | -| - - - 4] 4 32 39
R <A R OEDLE Y 12| 0.045 | 0.011 | 0.027 | 12 |<0.001 | <0.001 <0.001| 12 |<0.001 | <0.001 | <0.001
B R 4| 1.8 1.3 1.6 | - - - - 4| 22 1.3 1.7
o [LLI-M7mnzgy 2 1<0.030/<0.030|<0.030| - | - - - | 2 ]<0.030<0.030]<0.030
AFN—t-TF)LT—F)v 2 |<0.002 | <0.002 | <0.002| 2 |<0.002|<0.002 <0.002| 2 |<0.002 <0.002|<0.002
E HHW (RFTHBER (TOC) DR) 51| 3.8 | 05 1.0 |51 09 | 03 06 [12] 08 | 0.3 | 05
H |RK%E(TON) *3 |1 1 1 1 - - - - -1 - - -
B HEBREY 4 | 100 80 9 | - - - - 4| 100 90 100
BE 365 20 0.2 1.3 [365/ <0.1 | <0.1 <0.1 [12] <0.1 | <0.1 | <0.1
pHIE 365 7.6 | 7.0 | 7.4 |365 7.4 | 72 73 |12] 74 | 7.2 | 73
BEWEGUFITHRE) - - - i B - - |4 -1.7 | 2.4 | 21
TR E M 12 | 83000 | 3400 | 17000 (12| 6 1 1 |12] 15 2 5
1,1-YruuxzFLy 2 <0.010/<0.010/<0.010| - | - - - | 2 /<0.010<0.010 | €0.010
TAI=T LR OEDLEY 12| 0.23 | 0.04 | 0.09 [12] 0.02 | <0.01 <0.01 | 12| 0.03 | <0.01 | 0.01
PFOS % U'PFOA 4 ]<0.000005 | <0.000005| <0.000005( — - - - 4 |<0.000005| <0.000005 | <0.000005
AR 365 19.3 | 0.3 | 8.1 [365 20.3 | 0.6 8.8 [12] 19.4 | 1.7 | 9.6
BXYRER 365 145 61 113|365 186 76 127 |12] 183 86 136
< BRI (V= 2 ) 51| 4 <1 a |- - - - - - - -
D |TUESTERES 51| 0.03 | <0.02|<0.02| -| - - - -1 - - -
# B~ 12 ] 0.038 | 0.008 | 0.019 | - | - - - -1 - - -
TIVHYEE 4| 24 11 19 |- - - - |4 25 15 20
= AN 4| 13 9.2 12 | -] - - - |4 13 9.6 12
B [=Z/%iva 4| 25 1.9 | 23 [ -] - - - 4] 25 1.9 | 23
VDN 4] 1.3 | 054 | 084 | -] - - - | 4] 1.0 | 059 | 0.79
SRAMEIR L (E260) 365 0.686 | 0.057 | 0.121 [365] 0.090 | 0.023 0.040 [ 12| 0.052 | 0.024 | 0.036

*1 JFARIZBOT, RJIKARDR O (R, +8)XTERE 1 LTLR0,
*2 BIFEOMIT. FTHRHRE BEEIZEELLLDOTHD,
*3 RRUCHEFEZRUIBEICDHRABRE EHE,
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T LR F KIS

EE B K fid 7K oK B oK

¥ OBK | & | FH O |EE ORK | B T (E% ERK | & | FH

— AR 51| 750 6 170 |51 <« <1 1 12 « ! !
PN 51| 200 | 1.0 25 | 51 | ERH | RikH M| 12 | R | R | R
HRIVLROZEDLED 2 |<€0.0003 | <0.0003|<0.0003| — - - - 2 |<0.0003|<0.0003|<0.0003
Kﬁﬁ&(f%@{tﬁ“% 2 |<0.00005|<0.00005|<0.00005| — - - - 2 |<0.00005|<0.00005|<0.00005
LU ROZEDILEY 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
R UEDLEY 2 |<0.001 | <0.001|<0.001| 2 |<0.001|<0.001 <0.001| 2 |<0.001]<0.001<0.001
R CEDLEY 12| 0.004 | 0.001 | 0.002 | - | - - - |12 0.001 | <0.001]<0.001
Aizesbi4 4 [<0.002<0.002 | <0.002| 4 |<0.002|<0.002 <0.002| 4 |<0.002 <0.002]<0.002
TR ER 2 1<0.004|<0.004|<0.004| - | - - - | 2 /<0.004]<0.004 | <0.004
" ST AT RO T | 4 <0.001 ] <0.001 | <0.001| 4 |<0.001|<0.001 <0.001] 4 |<0.001]<0.001 | <0.001

HERER K O HHEEER 2| « <1 a (-1 - - - 2] «a <1 <1
B’ |oympozroken 2 | <0.08 | <0.08 | <0.08 | - | - - - | 2<0.08 | <0.08 | <0.08
12 |BRUVRKRCEDLES 12| <€0.1 | <0.1 | <0.1 | - - - - |12] <0.1 | <0.1 | <0.1
P vIRSE 2 |<0.0002|€0.0002|<0.0002| — - - - 2 |<0.0002|<0.0002|<0.0002
% L,4-UFF P 2 |<0.005|<0.005|<0.005| - | - - - | 2 /<0.005<0.005 | <0.005
i i%ZkEIZZ?ZE2§23‘* 2 <0.004|<0.004|<0.004| - | - - - | 2 /<0.004|<0.004 | <0.004
5 |Pommrsy 2 <0.002<0.002/<0.002| - | - - - | 2 /<0.002<0.002 ] <0.002
FrSruuzFLv 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
5}v7nu:%vy 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
H| vy 2 <0.001/<0.001/<0.001| - | - - - | 2 [<0.001<0.001]<0.001
EREESS -1 - - - | 4] 008 |<0.06 <0.06|4]| 0.08 | <0.06] <0.06
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» |7/ —VHH - - - <0.0005 - -
Bg|A
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& ; pHIE 74|71 12 |74]72| 7.2 [74|72| 73 [74|73] 74 |76|71| 74 |75|73| 74
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H Eg AR *1 REiL29 EREL REiL RERL29 EREL Rl RERL2T ERE4REARLD ERREL
H é BE 4.9 4.1 2.5 4.2 8.7 4.6
A EEE 38 |1.2] 7.0 |40 /23| 57 |19 /1.0] 28 [29]09] 1.3 |300] 1.1| 22 | 15[09] 2.1
TUFEVRTEDILEY - - - <0.002 - -
U5V ROZEDILEY - - - <0.0002 - -
=T A RBEDILEY - - - <0.002 - -
1,2-ragxis - - - <0.0004 - -
=y - - - <0.040 - -
TINVBY - FN~FI)) - - - <0.008 - -
HEIERER - - - - - -
K |[Pruareb=NL - - - - - -
g |[BkreT—n - - - - - -
2 B *2 - - <0.1 - <0.1 -
BREBHER - - - - - -
il
TN b, =T R N (T E) 40 - - 26 - -
H < VHROEDILEY 0.036 0.021 0.017 0.019 0.036 0.018
B | 2.1 - - 18 - -
% |LL1-Nroaxky - - - <0.030 - -
# |(FFATFAT=TN - - - <0.002 - -
5 FH# (TOC) 1.7/08| 1.2 [08]|06] 07 |1.0/07| 08 |1.3[09| 1.1 [ 11 |08| 49 |3.1]1.0] 16
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BE 38 1.2 7.0 [40 23| 57 | 19|1.0] 28 |29]09| 1.3 [300|1.1] 22 |15 |09 2.1
pHYE 74|71 72 |[74|72] 72 [74|72| 73 |74|73| 74 [7671| 74 |75|173| 74
BEMGU7ITHEE) - - - - - -
PEB R ZA B 12000 6500 11000 13000 31000 10000
1,1-YrunxFL v - - - <0.010 - -
TAI=U LR IZEDILED 0.14 0.16 0.14 0.06 0.21 0.08
PFOSXK U'PFOA <0.000005 - - €0.000005) - -
7RI 6.8/29| 48 [9.1]58| 7.4 [14.8/8.1| 11.5 |16.9|13.5| 15.4 [18.1/12.6] 15.1 [17.5|12.6| 14.9
ERLER 194| 77 | 110 [103] 63 | 76 |165| 72| 110 [186| 79 | 127 |[188| 59 | 105 [235| 92 | 134
T |mEMEERE (T ) | 22 1 8 4 | <1 2 2 | <1 1 4 || 2 |25 1 12 |14 |<1| 4
D |TUVE=TEEXR €0.02/<0.02| <0.02 [<0.02]<0.02| <0.02 |<0.02|<0.02| <0.02 |<0.02|<0.02| <0.02 | 0.02<0.02| <0.02 |<0.02/<0.02| <0.02
s B~ v 0.029 0.015 0.014 0.013 0.006 0.012
JE THVHIE 22 - - 17 - -
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H A R 2.8 - - 1.6 - -
FVT A 1.9 - - 1.2 - -
SRIMRIEEE (E260) 0.191/0.121] 0.155 0.200/0.108| 0.129 0.681/0.107| 0.154 |0.344]0.141] 0.174 |0.889/0.129| 0.252 [0.455/0.156] 0.203
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2.1 - - 3.1 - - |AVoAs
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Bg|A
Z AP (TOC) 0.7/04| 06 |04]03| 04 [05/04| 05 |07]06| 07 [1.0/05| 08 |1.0[05]| 0.7
& é pHIE 7372] 72 |73|72| 72 [74/72| 73 |74|73| 73 |74|72]| 73 |74[72] 13
HE| R g REAL R R R Rl Rl
" Eg BR BERL RERL RERL RERL RERL RERL
H é B <0.5 <0.5 <0.5 <0.5 0.6 <0.5
A |me <0.1/<0.1| <0.1 [<0.1/<0.1] <0.1 |<0.1[<0.1| <0.1 [<€0.1/<0.1] <0.1 |<0.1/<0.1| <0.1 [<0.1|<0.1| <0.1
TrFEVRUZEDILEY - - - - - -
UV ROZDILEY - - - - - -
=T IVRBEDLEY - - - <0.002 - -
1,2-ragxis - _ _ _ _ _
M= - - - - - _
TENVEEY Q- FNA~FI)V) - - - <0.008 - -
R - - - <0.06 - -
K |Pruarer=RL <0.001 - - <0.001 - -
g |[BkreT—n <0.002 - - <0.002 - -
5 B *1 - - <0.1 - <0.1 -
BEEFE 0.56/0.44| 0.51 [0.54|0.46| 0.49 |0.72/0.50| 0.55 |0.86/0.58] 0.73 |0.84|0.66] 0.72 [0.82]0.66| 0.73
= ANV A, =T RV N (R E) - - - - - -
H <V HYRUEDILEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B | - - - - - -
® |LL1-NZgpxgy - - - - - -
# |(FFATFAT=TN - - - <0.002 - -
15 AP (TOC) 0.7/04| 06 |04]03| 04 [05/04| 05 |07]06| 07 [1.0/05| 08 |1.0[05]| 0.7
. RXFE (TON) - - - - - -
RRBREY - - - - - -
BE <0.1/<0.1| <0.1 [<0.1]<0.1] <0.1 |<0.1[<0.1]| <0.1 [<€0.1]<0.1| <0.1 |<0.1/<0.1| <0.1 [<0.1|<0.1| <0.1
pHIE 7372] 72 |73|72| 7.2 [74)72| 73 |74|73| 73 |74|72| 73 |74[72] 13
BREGUFI TR - - - - - -
PEB R ZA B <1 1 2 5 <1 <1
1,1-PruagxFL v - - - - - -
TAI=U LR IZEDILED <0.01 <0.01 0.01 0.02 0.03 0.02
PFOSK U'PFOA - - - - - -
ZKiE 6.1 31| 46 |89|57| 7.1 [14.1)8.4| 10.8 |17.2/13.0| 152 [17.1)13.3| 15.0 |16.6]12.9] 14.9
BRIEE 176 | 89 | 122 |125| 77 | 88 |[147| 82| 108 |176|102| 131 |158| 97 | 121 |228|107| 153
T |BERMEHRE (T E) - - - - - -
» |TrE=THRER - - - - - -
" WiE~v v - - - - - -
" THYE - - - - - -
AN DA - - - - - -
H A R - - - - - -
AV A - - - - - -
SRIMRIEEE (E260) 0.056/0.033] 0.043 ]0.045/0.029] 0.033 0.096/0.032| 0.041 |0.086|0.050| 0.057 |0.082/0.042| 0.055 [0.092]0.049] 0.058
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- - - - - - |EREGUFITHEE
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- - - - - - |L1-YZuoxFL
0.02 0.01 <0.01 0.01 <0.01 €0.01 [TAI=DARTZED/LEY
- - - - - - [PFOSRTUPFOA
15.1/ 9.6 | 11.7 |11.0/ 6.4 | 8.1 [5.1 /29| 40 |3.7|1.9] 27 |27|16| 22 [48)|22| 32 |/KiR
187 | 104 | 148 | 212|105 | 150 [143|114| 126 |186| 115| 137 [181|116| 128 | 178|111 | 138 |BEXf=ER
- - - - - - R (oA =) z
- - - - - - |TvE=THRESR )
- - - - - - |\ B\ it
- - - - - - |7hvE ]ﬁ
- - - - - - |IATTA
- - - - - - |=ZRva H
- - - - - - |[AUoa
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0.058 0.048 0.047 0.043 0.035 0.040 |ERAMBRIFOLEE (E260)
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4-(4) HKEEBEBKERRER (% KEER)
EEIFKE
. Al sy 56| 70 8] 910|121 2 3 I
Sl 219 (271287 [31.9]29.1 [29.4 [ 279166 | 6.4 82| 99| 17.7 31.9
R () B -1.9| 4.0] 59156 |15.0| 6.9|-0.3 | -4.8 | -10.5 | -15.8 | -12.1 | -6.9| ~-15.8
Tyl 7.9 14.1|16.1 | 22.4 | 21.8 |18.7 | 11.5| 5.9 | 2.4 | -5.5 | -3.6 | 3.9 9.2
Egl 30 31 300 31] 31 30 31] 30| 31| 31] 28 31 365
Sl 115 [ 11.7]16.0 [19.0 [ 186 [17.9 [ 17.3 [ 13.8] 7.3] 48] 39| 7.3 19.0
KECC) | g Ak S 26 52| 7.7]119 | 12.0]123 | 96| 57| 29| L7 18] 2.4 1.7
| 56| 7.6|11.3 154 |14.8 153 | 11.8| 9.1 | 4.1| 28| 26| 3.9 8.7
Eg 30 31 300 31] 310 30/ 19] 30| 31| 31] 28 31 353
few] 59 61] 85] 27 s00] 20] 84| 60] 63| 87| 53] 59 500
ok RS 12) 23] L1] 08| 08| 08| 08] 06| 0.9 07| 05| 0.7 0.5
|l 83| 7.3| 35 21| 19| 20| 1.3| 25| 1.3| 1.8 09| 38 4.5
] 120 | 124 ] 120 | 124 | 124 | 120 | 79| 104 124 | 124 112] 124| 1,399
Sl 09 08] 09 08 1.1] 05] 08 09| 0.7 09] 08 1.1 1.1
sek BAE[ 021 0.1 01 01 0] 01| 01| 01| 02| 0.2] 02| 0.1 0.1
|l 05] 04| 04 03] 03] 02] 03] 03] 04| 05| 05| 04 0.4
O ) 120 | 124 ] 120 | 124 | 124 | 120 | 79| 103 | 124 | 124 | 112] 124| 1,398
(% | <o) <o.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1] <0.1| <0.1] <0.1] <0.1 <0.1
I % || <o.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1 <0.1
oAk el <0.1) <0.1] <0.1| <0.1| <0.1] <0.1] <0.1] <0.1| <0.1] <0.1] <0.1] <0.1 <0.1
[E1%) 180 | 186 | 180 | 186 | 186 | 180 | 118 | 155 | 186 | 186 | 168 | 186| 2,097
| <o) <o.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1] <0.1| <0.1] <0.1] <0.1 <0.1
I % | %] <0.1| <0.1] <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
ZiAk | E| <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
E%) 180 | 186 180| 186| 186 180| 118 155 186 186 168 186 2,097
| <o) <o.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1] <0.1| <0.1] <0.1] <0.1 <0.1
g1 i [FEAE| <01| <0.1] €0.1) <0.1| <0.1] €0.1) <0.1] <0.1| <0.1| <0.1] <0.1] <0.1 <0.1
| <0.1] <€0.1| <0.1] <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1 <0.1
] 120 | 124 120 ] 124 | 124 ] 120 | 124 | 120 124 | 124 | 112] 124| 1,460
few] 20 15 18] 19 22| 22 24 95| 22| 22] 23] 22 25
KT VAV EE Bk &Kl 10 9| 11| 14| 12| 16| 17| 16 16 15 13 13 9
(mg/L) |7 eyl 16 11| 14| 17| 18] 20| 20| 20| 19| 19| 20| 18 18
Egl 9l 9] 8l 9 9| 8| s 38 9 9 8 8 102
Sl 7t v vl el vl rs] 2] ] ra] 1] vl 71 7.3
k| US| 66| 68| 69 69| 6.9] 69 69| 69| 69| 68| 68| 68 6.6
K
| 69 69| 7.0 70| 70| 71| 71| 70| 70| 69| 69| 6.9 7.0
bH E| 120 | 124 | 120 | 124 | 124 | 120 | 79| 104 | 124 | 124 | 112| 124| 1,399
fe| 69 70] 6.9] 69] 69| 7.0] 69| 70| 69| 70| 69| 7.0 7.0
g ok HIE[ 69 69| 69| 69| 68 69 68| 69| 69| 69 69| 6.9 6.8
T 69| 69| 69| 69| 69| 69| 69| 69| 69| 69| 69| 6.9 6.9
E 60| 62 60| 62 62] 60| 62] 59 62| 62| 56| 62 729
Jerei] 012 70.0370.03 [0.02 [0.030.03 ]0.030.06 | 0.02]0.10 | 0.05 ] 0.05 0.12
i k| JUE[<0.01] 0.01 <0.01]<0.01€0.01]<0.01/ 0.01 | 0.01 | <0.01] 0.01 | <0.01] 0.02 | <0.01
4] 0.05 | 0.02 | 0.01 [<0.01| 0.01 | 0.01 | 0.02 | 0.02 | 0.02 | 0.04 | 0.03 | 0.03 0.02
EE| 30| 31| 30| 31] 31 30| 19| 26| 31| 31| 28 31 349
Jerei[<0.01]<0.01]€0.01]<0.01]€0.01]<0.01]<0.01]<0.01] <0.01] <0.01] <0.01| <0.01]  <0.01
BAEony |1 B | e[ <0.01]<0.01]€0.01[<0.01]€0.01]<0.01]<0.01<0.01| <0.01| <0.01| €0.01| <0.01]  <0.01
(mg/L) | B | sp)<0.01]<0.01]<0.01]<0.01[<0.01]<0.01|<0.01/<0.01| <0.01| <0.01| <0.01| <0.01]  <0.01
EE| 30| 31| 30| 31] 31 30| 19| 26| 31| 31| 28 31 349
Jeri[<€0.01]<0.01]€0.01]<0.01]€0.01]<0.01]<0.01]<0.01] <0.01] <0.01] <0.01] <0.01]  <0.01
I % | %] <0.01/<0.01]<0.01]<0.01]<0.01| <0.01|<0.01|<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
ik | E49]<0.01]<0.01]€0.01[<0.01|<0.01|<0.01]<0.01]<0.01| <0.01| <0.01| €0.01| <0.01]  <0.01
Eg  s0l 31 30l 31! 31 30l 19] 26l 31 31| 28] 31 349
Al sy 56| 78] 910|121 2 3 I
5 H
feri] 056 1 0.56 ] 0.62 [ 0.74 [ 0.76 [ 0.72 [ 0.78 | 0.74 | 0.62 | 0.54 | 0.52 | 0.52 0.78
PRI | g | WEIE]0.42 | 0.48 | 0.48 | 0.50 | 0.60 | 0.60 | 0.62 | 0.58 | 0.50 | 0.46 | 0.44 | 0.44 |  0.42
(mg/L) 4] 0.50 | 0.53 | 0.52 | 0.60 | 0.67 | 0.66 | 0.68 | 0.65 | 0.55 | 0.51 | 0.49 | 0.49 |  0.57
] 120 | 124 120 ] 124 | 124 ] 120 | 124 | 120 124 | 124 | 112] 124| 1,460
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BII&KiE

4 5 6 7 8 9 10 | 11 | 12 1 2 3 4
H _H
el 13.3 19.4 ] 23.4|25.3(23.9(22.1 189 11.0| 20| 05| 36| 7.8 25.3
A IR(°C) &l 0.2 6.2|11.6|18.8|17.9|11.7| 3.5|-0.9|-9.0 |-12.8| -9.6 | -2.1 | -12.8
Sl 7.0 1351 16.3] 22,11 21.0 | 17.6 | 10.3 | 4.8| -3.5|-6.8 | -5.0 | 2.9 8.4
M%) 30 31 30 31| 31| 30| 31| 30| 31| 31| 28] 31 365
el 7.2 1121153188 18.0|17.6 156 | 11.2| 50| 3.4| 3.3| 5.9 18.8
N A%l 2.2 47] 75|11.0]12.0]11.8| 89| 5.0| 25| 09| 1.2 1.4 0.9
ARCC) R Sl 46 7.41109| 15.1 149 | 148 | 11.4| 7.7| 3.6 | 2.2 1.8] 3.1 8.1
M%) 30 31 30/ 31| 31| 30| 31| 30| 31| 31| 28] 31 365
| 44 55| 50| 18] 680 | 18| 68| 66| 2.8 14| 5.0| 100 680
Bk &l 1.2 20| 07] 0.7] 07| 06| 07| 05| 1.1] 0.6| 0.5| 1.0 0.5
Sl 8.0 6.9 28| 1.5] 21| 1.8| 25| 41| 15| 21| 1.0| 5.0 4.9
M%] 120 124 | 120 | 124 | 124 | 120 | 124 | 120 | 124 | 124 | 112 | 124 1460
el 05 0.7] 03] 03] 05] 03] 07 09| 04| 09| 04| 0.6 0.9
gkt | (K] 0.1 <0.1) <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| 0.1 | <0.1| 0.1 0.1
TElEOK | szl 0.2 0.2 0.1 0.2) 01| 0.1 02| 02| 02| 04| 02| 0.3 0.2
Mm% 60 62| 60| 62| 62| 60| 62| 60| 62| 62| 56| 62 730
el 05 05] 0.3 02] 06] 03| 05| 05| 07| 0.6] 05| 0.6 0.7
gkt | (K] 0.1 <0.1) <0.1| <0.1] <0.1| <0.1| <0.1 <0.1| 0.1 | 0.1 | 0.1| 0.1 0.1
TElEOK | szl 0.3 0.2 0.1 0.1 0.2 0.1 0.2] 02| 02| 03| 02| 0.3 0.2
Mm% 60 62| 60| 62| 62| 60| 62| 60| 62| 62| 56| 62 730
el 04 07] 22| 02] 1.2] 07| 1.0 1.3 07| 0.7] 04| 0.8 2.2
& gkt | (K] <0.1 <0.1| <0.1| <0.1] <0.1| <0.1| <0.1/ 0.1 | 0.1 ] 0.1 | <0.1| <0.1 0.1
(E£) TElEOK | szl 0.2 03] 0.2 0.1 0.2 0.2] 0.2] 04| 03] 02| 02| 0.3 0.2
Mm% 60 62| 60| 62| 62| 60| 62| 60| 62| 62| 56| 62 730
| <01 <0.1] <0.1) <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1] <0.1| <0.1 0.1
wrsksl | | <0.1 <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1 0.1
WK | S <0.1 <0.1] <0.1] <0.1| <0.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1 0.1
M%) 120 124 | 119 | 124 | 123 | 120 | 124 | 120 | 123 | 124 | 111 | 124 1456
| <01 <0.1] <0.1) <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1] <0.1| <0.1 0.1
skl | | <0.1  <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1 0.1
WK S <0.1 <0.1] <0.1] <0.1| <0.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1 0.1
m%] 120 124 | 119 ] 124 | 123 | 120] 123 | 120 | 123 | 124 | 111 | 124 1455
| <01 <0.1] <0.1) <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1] <0.1| <0.1 0.1
g Bl <0.1 <0.1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1 0.1
WK | S <0.1 <0.1] <0.1] <0.1| <0.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1 0.1
M%) 119 124 119 ] 124 123 | 120] 123 | 120 | 123 | 124 | 111 | 124 1454
el 24 18| 24| 22 21| 26| 25| 24| 22| 21| 22| 23 26
KTV g Bk ARl 16 12 16| 17| 16| 18| 17| 18| 18| 18| 18| 17 12
(mg/L) - Sl o200 150 19 19 19| 22| 23| 22| 20| 19| 20| 20 20
[EIEx 9 9 8 9 9 9 9 8 9 9 8 9 105
el 72 71 r2| r2| 72] 73| 72 72| 71| 7.1 71| 7.2 7.3
Bk k| 68 69| 69| 69| 68| 7.1| 70| 69| 69| 69| 6.9| 6.9 6.8
Sl 7o 7.0 70| 7.1 7.1 71| 71| 71| 7.1] 7.0| 6.9 7.0 7.0
Mm% 60 62| 60| 62| 62| 60| 62| 60| 62| 62| 56| 62 730
el 70 69] 7.0 70| 69| 7.0, 70| 69| 69| 69| 69| 6.9 7.0
sk Bkl 6.9 6.9 6.9| 69| 69| 69| 69| 6.8 69| 69| 69| 6.9 6.8
oK%l 69 69| 69| 69| 69| 69| 69| 69| 69| 69| 69| 6.9 6.9
pH Mm% 30 31, 30| 31| 31| 30| 31| 30| 31| 31| 28| 31 365
el 70 69] 7.0 70| 69| 7.0 70| 69| 69| 69| 69| 6.9 7.0
s Bkl 6.9 6.9 6.9 69| 69| 69| 69| 69| 69| 69| 69| 6.9 6.9
oK %l 69 69| 69| 69| 69| 69| 69| 69| 69| 69| 69| 6.9 6.9
Mm% 30 31, 30| 31| 31| 30| 31| 30| 31| 31| 28| 31 365
el 70 69] 7.0 70| 69| 7.0 70| 7.0 69| 69| 69| 6.9 7.0
sk Bkl 6.9 6.9 6.9 69| 69| 69| 69| 6.8 69| 69| 69| 6.9 6.8
oK %l 69 69| 69| 69| 69| 69| 69| 69| 69| 69| 69| 6.9 6.9
Mm% 30 31, 30| 31| 31| 30| 31| 30| 31| 31| 28] 31 365
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H

4 5| 6 | 7| 8| 9 |10 11|12 1] 23]
H H
fr] 010 0.03| 0.04 | 0.03 | 0.04 | 0.03 | 0.04 | 0.08 | 0.03 | 0.15 | 0.06 | 0.06 0.15
ok %M€ 0.02  0.01 [<0.01| 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.02 | 0.01 | 0.02 | 0.01 <0.01
SEF]00.05 0 0.02 | 0.02 | 0.01] 0.02 | 0.02 | 0.02 | 0.02 | 0.02 | 0.05 | 0.04 | 0.03 0.03
M| 60 62| 60| 62| 62| 60| 62| 60| 62| 61| 56| 61 728
[ <€0.01 €0.01]<0.01]€0.01]<0.01] €0.01]<0.01] €0.01|<0.01] <0.01|<0.01|<0.01[  <0.01
ok | Bz [ €0.01 <0.011<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01]  <0.01
AiK | SE[<0.01 €0.01]<0.01] €0.01] <0.01|€0.01| <0.01 | <0.01| <0.01| €0.01|<0.01|<0.01|  <€0.01
BTN Mm% 30 31, 30| 31| 31| 30| 31| 30| 31| 31| 28| 3l 365
(mg/L) [ <€0.01 €0.01]<0.01]€0.01]<0.01] €0.01]<0.01] €0.01|<0.01] <0.01|<0.01|<0.01[  <0.01
ookt | FzAR [ €0.01 <0.011<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01]  <0.01
AR | SE[<0.01 €0.01]<0.01] €0.01] <0.01|€0.01| <0.01 | <0.01| <0.01|€0.01|<0.01|<0.01]  <€0.01
Mm%l 30 31| 30| 31| 31| 30| 31| 30| 31| 31| 28| 31 365
B[ <€0.01 €0.01]<0.01] €0.01]<0.01] €0.01]<0.01] €0.01|<0.01] <0.01|<0.01|<0.01[  <0.01
skt | Bz [ €0.01 <0.011<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01|<0.01]  <0.01
AR | SE[<0.01 €0.01]<0.01] €0.01] <0.01|€0.01| <0.01 | <0.01| <0.01| €0.01|<0.01|<0.01|  <0.01
mi%l 30 31 30| 31| 31| 30| 31| 30| 31 31| 28| 31 365
fxrn] 056 0.54| 0.66 | 0.84 | 0.82 | 0.88 | 0.98 | 0.84 | 0.60 | 0.62 | 0.62 | 0.58 0.98
sk | el 0.44 044 | 0.48 | 0.56 | 0.62 | 0.64 | 0.62 | 0.52 | 0.50 | 0.48 | 0.46 | 0.44 0.44
K gl 049 0.49 | 0.55 | 0.73 ] 0.71 | 0.73 | 0.77 | 0.69 | 0.55 | 0.55 | 0.53 | 0.50 0.61
M| 60 62 59| 62| 61| 60| 62| 60| 61| 62| 55| 62 726
] 056 0.54| 0.66 | 0.84 | 0.92 | 0.92 | 0.92 | 0.84 | 0.62 | 0.62 | 0.60 | 0.62 0.92
ok | Bl 0.46 0.42 | 0.48 | 0.52 | 0.64 | 0.64 | 0.66 | 0.54 | 0.52 | 0.50 | 0.46 | 0.44 0.42
K gl 051 0,49 ] 0.54 | 0.72 ] 0.73 1 0.73 | 0.77 | 0.69 | 0.56 | 0.56 | 0.51 | 0.51 0.61
AR M| 60 62] 59| 62| 61| 60| 61| 60| 61| 62| 55| 62 725
(mg/L) fr] 056 0.54| 0.76 | 0.88 | 0.84 | 0.84 | 0.92 | 0.78 | 0.60 | 0.64 | 0.60 | 0.56 0.92
sk | Bl 0.46 0.46 | 0.48 | 0.58 | 0.62 | 0.66 | 0.68 | 0.54 | 0.52 | 0.50 | 0.44 | 0.46 0.44
H K gl 050 0.51 | 0.54 | 0.73 ] 0.72 | 0.73 | 0.74 | 0.68 | 0.56 | 0.57 | 0.52 | 0.51 0.61
M| 59 62| 59| 62| 61| 60| 61| 60| 61| 62| 55| 62 724
fxrn] 048 0.48 | 0.48 | 0.66 | 0.66 | 0.66 | 0.68 | 0.66 | 0.52 | 0.52 | 0.50 | 0.48 0.68
ﬁi M%) 0.40 0.40 | 0.42 | 0.42 | 0.56 | 0.54 | 0.56 | 0.50 | 0.46 | 0.44 | 0.42 | 0.40 0.40
woa— || 0.45 0.44 | 0.45 | 0.56 | 0.61 | 0.59 | 0.60 | 0.59 | 0.49 | 0.49 | 0.45 | 0.44 0.51
Ml 120 124 | 120 ] 124 | 124 | 120 | 124 | 120 | 124 | 124 | 112 | 124 1460
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74 515 KI5

H

% H 4 5 6 7 8 9 10 | 11 | 12 1 2 3 ==
I 17.0 ) 26.8 | 26.7 | 27.6 | 27.4 | 25.7 1 23.6 | 13.3 | 49| 3.2| 6.1 11.4 27.6
& (C) BAkl 1.0] 9.1]11.7]188|19.1| 137 7.9 -0.8| -7.5 |-13.1| -9.5 | -1.1| -13.1
S| 10.2 | 16.6 | 18.0 | 23.7 | 23.4 |1 20.6 | 13.7| 7.0 | 1.9 | -4.7 | 3.0 | 5.4 10.8
mi%] 30 31| 30! 31| 31| 30! 31| 30| 31/ 31/ 28| 31 365
I 8.8 14.5120.0 | 21.8(26.5|22.2|17.8|11.1 | 56| 3.6| 25 7.5 26.5
KECC) | E K A& 59| 88123 |17.1|17.7|155| 9.0 | 48| 1.8| 1.3| 1.0 2.7 1.0
Sl 72| 11.2]16.3]19.6 1 19.9 | 188 | 12.2| 7.4 | 3.8| 22| 1.9| 53 10.5
Egl 11 18 8 8| 10 6| 58| 31 8 7 8 17 190
fem] 26.0 9.8 | 7.1119.0 | 86.0 | 15.0 | 50.0 | 34.0 | 29.0 | 11.0 | 15.0 | 17.0 86
Bk IEl 1.2 14| 1.7 27| 1.4 1.3] 05] 04| 15| 07| 09 1.6 0.4
Sl 12.0 | 36| 3.3| 8.1 |17.0| 6.4 | 5.1 | 7.6| 87| 3.3 3.1| 7.4 7.1
EEl 11] 18 8 8| 10 6| 58| 31 8 7 8 17 190
el 0.2] 03] 0.2 06| 04 03] 03] 07| 07| 03| 05| 0.6 0.7
vk A&l o1 01| 01| 0.1] 0.2 02] 0.1] 01| 01| 0.1] 0.1] 0.1 0.1
¥l 01| 01 0.2] 02| 03| 0.2] 0.1 02] 03] 01| 0.2] 0.2 0.2
o EEl 11] 18 8 8| 10 6| 58| 31 8 7 8 17 190
(H) & <0.1] <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1 <0.1
2k A% <0.1) <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
SEE| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 <0.1] <0.1 <0.1
EEl 11] 18 8 8| 10 6| 58| 31 8 7 8 17 190
] <01 <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
ok A% <0.1) <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
SEE| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1 <0.1] <0.1 0.1
ml 120 ] 124 | 120 ] 124 ] 124 | 120 ] 124 | 120 | 124 | 124 | 112| 124 | 1,460
&l 21| 16| 23| 25| 24| 25| 31| 30| 25| 25| 23| 25 31
KT VA E AR 13 11| 21| 22| 20| 24| 23| 20| 21 21 19 18 11
(mg/L) K SRl 16| 13 22| 24| 22| 24| 25| 25| 24| 24| 21| 20 22
Bk 5 8 4 4 5 31 16] 10 4 4 4 6 73
e 7.3 71| 73| 7.3 7.3 74 75 73| 7.3 7.3 7.3 7.1 7.5
Bk A&l 70 7| 7| 7| 7.1 73] 7.1 71| 71| 71| 7.1 7.1 7.1
el o7a| 71| 72| 72| 7.3 7.3 7.3 73] 71 7.1 7.1 7.1 7.2
oH EEl 11] 18 8 8| 10 6| 58| 31 8 7 8 17 190
el 71 70| 70| 7.0 7.1 7.1 7.0 7.0 69| 6.9| 6.9 6.9 7.1
Bl ok &IE] 69| 69| 69| 69| 6.9 69| 69| 69| 69| 6.9| 69 6.9 6.9
¥l 69| 69| 69| 7.0 7.0 7.0| 69| 69| 69| 69| 6.9 6.9 6.9
mil 120 ] 124 | 120 ] 124 ] 124 | 120 ] 121] 120 | 124 | 124 | 112| 124| 1,457
fei] 0.02 ] 0.34 | 0.04 | 0.02 | 0.03 | 0.02 | 0.05 | 0.01 | 0.02 | 0.03 | 0.01 | 0.02 0.34
Ak 5%1%]<0.01] 0.04 | 0.02 | 0.01 | 0.01 | 0.01 |<0.01] 0.01 | 0.01 | <0.01| <0.01| <0.01|  <0.01
SEE[00.01 | 0.15 | 0.03 | 0.01 | 0.02 | 0.01 | 0.01 | 0.01 | 0.02 | 0.01 | 0.01 | 0.01 <0.01
VRAF= Ny ik ] 7 4 4 5 31 15 8 4 4 4 6 67
(mg/L) B E[<0.01]<€0.01{<0.01/<0.01]<0.01|<0.01|<0.01|<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
23k H%15%] €0.01]<0.01|<0.01|<0.01/<0.01|<0.01|<0.01|<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
SE#[<€0.01]<0.01]<0.01]<0.01<0.01|<0.01|<0.01|<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
Bk 3 7 4 4 5 3| 14 8 4 4 4 6 66
fr] 0.46 | 0.46 | 0.48 | 0.60 | 0.58 | 0.58 | 0.64 | 0.60 | 0.48 | 0.52 | 0.50 | 0.46 0.64
TR Bl ok %] 0.36 | 0.36 | 0.38 | 0.40 | 0.48 | 0.46 | 0.50 | 0.44 | 0.40 | 0.40 | 0.40 | 0.36 0.36
(mg/L) SEE| 0.40 | 0.41 | 0.43 | 0.51 | 0.53 | 0.52 | 0.56 | 0.54 | 0.45 | 0.46 | 0.44 | 0.41 0.47
mi| 120 ] 124 | 120 ] 124 ] 124 | 120 ] 124 | 118 | 124 | 124 | 112| 124| 1,458
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. 4 5 6 7 8 9 10 | 11 | 12 1 2 3 ==
fer] 195 25.1 126.0 | 28.4 [ 26.2 | 25.2 | 21.4 | 14.0 | 6.8| 1.0| 4.3 11.5 28.4
& (C) Bkl 05| 8.7 9.8]18.3|19.5| 138 57| -1.2| -7.8 |-12.6 |-10.0 | -0.9| -12.6
(100 | 16.3 | 17.4 | 23.5 1 23.2 1 20.2 | 12.8 | 6.5 | -2.2 | 5.6 | -3.4 | 5.0 10.3
mi%| 30 31 30 31| 31| 30/ 31| 30| 31| 31| 28| 31 365
fem| 7.6 14.3118.0120.9 205 19.1 | 16.3]10.0| 32| 1.7| 2.0 6.3 20.9
KECC) | E K A& 1.7 46| 8.6|14.6|14.0|10.7| 52| 40| 04| 03| 04| 05 0.3
SE¥| 47| 9.0|12.9| 175 17.0 | 153 |10.4| 6.1 | 1.3] 05| 0.7 3.3 8.2
mi| 120 ] 124 | 120 ] 124 ] 124 | 120 ] 124 | 120 | 123 | 124 | 112| 124| 1,459
el 32| 14| 3.2 29| 55| 40| 9.0 21| 27| 20| 16 70 70
Bk & 1.3 08| 08| 0.7 0.7 0.6] 0.3] 03| 04| 05| 05 0.6 0.3
| 46| 16| 11| 1.4 3.1, 15| 1.0 1.0| 07| 07| 0.8| 5.3 1.9
| 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 123 | 124 | 112 | 124 | 1,458
el 09 05| 04| 05| 1.0 05| 04| 08| 04| 05| 06 1.0 1.0
VK &l 0.2] 02| 01 0.1 0.1 0.1] 0.1 02| 02| 02| 02] 0.2 0.1
¥l 05| 03] 03] 02 02 02| 02| 03] 03] 03| 0.3] 0.4 0.3
o M| 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 123 | 124 | 112 | 124 | 1,458
() I <01 <0.1| <0.1| <0.1] <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
23k A% <0.1) <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
SEE| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 <0.1] <0.1 <0.1
M| 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 123 | 124 | 112 | 124 | 1,458
] <01 <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
Bl ok A% <0.1) <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
SEE| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1 <0.1] <0.1 0.1
ml 120 ] 124 | 120 ] 124 ] 124 | 120 ] 124 | 120 | 124 | 124 | 112| 124 | 1,460
e 17| 20| 24| 25| 27| 26| 26| 23| 20| 21| 23| 22 27
KT VA E Ak AR 11 14| 18] 22| 16| 21| 20| 16 16 18 19 10 10
(mg/L) |7 syl 13| 16| 21| 24| 23| 25| 23| 20| 18| 19| 20| 16 20
Mkl 30 31 30 31| 31| 29 31| 30| 30| 31| 28| 31 363
el 6.9 7| 72| 7.2 7.2 72] 7.2] 71| 70| 71| 7.1 7.1 7.2
Ak ®IEl 6.7 69| 7.0 7.1 7.0 7.0] 7.0 69| 69| 69| 69 6.8 6.7
¥l 68| 69| 7.1 7.1 7.1 7| 7.1 7.0 69| 69| 6.9 6.9 7.0
bH M| 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 123 | 124 | 112 | 124 | 1,458
el 69 69| 69| 69| 7.0 69| 69| 69| 69| 69| 69 6.9 7.0
Bl Ak &IE| 68| 69| 69| 69| 6.9 69| 69| 69| 69| 69| 69 6.9 6.8
¥l 69| 69| 69| 69 69 69| 69| 69| 69| 69| 6.9 6.9 6.9
mil 120 ] 124 | 120 ] 124 ] 124 | 120 ] 124 | 120 | 124 | 124 | 112| 124| 1,460
fe] 0.04 | 0.04 | 0.04 | 0.03 | 0.03 | 0.02 | 0.02 | 0.03 | 0.03| 0.04 | 0.03 | 0.03 0.04
Ak i%1%] 0.01 | 0.01 |<0.01| 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.02 | 0.01 <0.01
SEE)00.03 | 0.02 | 0.02 | 0.01 | 0.02 | 0.01 | 0.01 | 0.02 | 0.02 | 0.02 | 0.02 | 0.02 0.02
TRAE~ Y Mm% 30| 31 30| 31| 31| 29| 31| 30| 30| 31| 28| 31 363
(mg/L) ] €0.01]€0.011<0.011<0.01/<0.01/<0.01]<0.01]<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
23k H%15%] €0.01]<0.01|<0.01|<0.01/<0.01|<0.01|<0.01|<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
SE#[<€0.01]<0.01]<0.01]<0.01<0.01|<0.01|<0.01|<0.01| <0.01| <0.01| <0.01| <0.01|  <0.01
M| 30 31 30 31| 31| 29 31| 30| 30| 31| 28| 31 363
fr] 0.46 | 0.46 | 0.48 | 0.56 | 0.58 | 0.52 | 0.54 | 0.50 | 0.46 | 0.42 | 0.42 | 0.46 0.58
TR Bl ok %] 0.38 ] 0.40 | 0.40 | 0.44 | 0.46 | 0.42 | 0.42 | 0.42 | 0.38 | 0.38 | 0.38 | 0.38 0.38
(mg/L) SEE| 0.43 | 0.42 | 0.44 | 0.49 | 0.52 | 0.47 | 0.48 | 0.46 | 0.43 | 0.40 | 0.40 | 0.41 0.45
mil 120 ] 124 | 120 ] 124 ] 124 | 120 ] 124 | 120 | 124 | 124 | 112| 124| 1,460
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% B 4 5 6 7 8 9 10| 11 | 12 1 2 3 ==
I 12.6 | 175 1 21.2 1 23.5 [ 23.2 | 20.8 | 16.5]10.0| 04| 05| 29| 5.4 23.5
& (C) Akl 2.3 4.1]10.5]16.7]16.7| 99| 1.5 -2.5|-9.2 |-14.4 |-10.4 | -3.9 | -14.4
SE¥| 55| 11.8 | 15.2(20.7 | 19.4 | 15.6 | 8.4 | 3.3 |-4.7|-8.1|-6.1 | 1.3 6.9
Bi%] 30| 31| 30| 31] 31, 30| 31| 30/ 31| 31| 28] 3l 365
| 6.3 9.4 | 154 | 17.4 | 17.7 | 16.1 | 14.1| 84| 50| 1.8] 1.6| 4.9 17.7
KECC) | E K A& 35| 59| 9.2|14.6 135|128 7.1 | 47| 1.0] 1.0] 1.0| 1.3 1.0
S| 50| 7.5(12.2] 159 | 15.7 | 14.8 | 10.4| 59| 1.8 | 1.1 | 1.2 3.3 7.9
mil 120 ] 124 | 120 ] 124 | 124 | 119 ] 124 | 120 | 124 | 124 | 112 | 124 | 1459
| 45 41| 39| 24| 31| 25] 2.1 16| 15| 29| 04| 2.6 31
B Ak &l 05| 1.0 06| 0.7 0.8 05| 0.3 0.2] 03] 0.2] 02/ 0.2 0.2
Sl 19| 22| 1.2] 1.1 3.6 1.2 07| 0.6| 0.6| 0.4 0.3] 1.0 1.2
mE 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 124 | 124 | 112 | 124 1459
el 03] 03] 0.8 0.2 03] 09 0.1] 03] 06| 03] 03] 1.0 1.0
VK & o01] 01| 01| 01| 01| 0.1 ] 0.1 0.1] 0.1] 0.1] 0.1 0.1 0.1
SE¥l 01| 01 01 01 01 01| 0.1 0.2] 0.2] 0.2 0.2] 0.3 0.2
O BI%] 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 124 | 124 | 112 | 124| 1459
() I <0.1) <0.1| <0.1| <0.1] <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 0.1
23k A% <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
SEE| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1 0.1
mE 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 124 | 124 | 112 | 124 | 1459
I <01 <0.1) <0.1| <0.1| 0.2 | <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 0.2
Bl Ak A% <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1 <0.1
SEE| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1 0.1
miEl 120 ] 124 | 120 ] 124 ] 124 | 119 ] 124 | 120 | 124 | 124 | 112 | 124 | 1459
el 30| 18| 24| 23| 28| 39| 31| 31| 40| 45| 52| 42 52
KT VA EE Ak A& 16| 11| 16| 20| 17| 28| 25| 22| 23| 38| 38| 26 11
(mg/L) a el 23| 14| 20| 21| 22| 33| 29| 27| 32| 41| 45| 34 28
Bk 8 9 9 8 9 8 9 8 9 9 8 9 103
e 71 7| 71| 71| 7.3 73] 73] 72| 73] 73] 73| 7.3 7.3
Bk &IEl 69| 68| 69| 7.0 7.0 7.1 7.1 7.1 71| 7.1] 72| 7.1 6.8
Sl 71| 7o) 71| 71 71 72| 72| 7. 7.2 7.2 73] 1.2 7.2
pH mE 120 | 124 | 120 | 124 | 124 | 119 | 124 | 120 | 124 | 124 | 112 | 124 | 1459
el 69| 69| 69| 69| 7.0 7.1 7.0 70| 7.1 7.1 71| 7.1 7.1
Bl ok I%| 68| 68| 6.8| 6.7| 6.7| 6.8| 6.7 69| 69| 7.0| 7.0| 6.8 6.7
¥ 69| 68| 69| 68| 6.9 69| 69| 69| 7.0 7.1 7.1] 7.0 6.9
miEl 120 ] 124 | 120 ] 124 ] 124 | 119 ] 124 | 120 | 124 | 124 | 112 | 124 | 1459
fem] 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.02 | 0.01 | 0.02 | 0.02 | 0.02 | 0.02 | 0.01 0.02
Bk BA%[ 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 0.01
SEE(0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 0.01
VRAF= Ny Bl%] 30| 31| 30| 31| 31, 30| 31| 30, 31| 31| 28| 3l 365
(mg/L) ] €0.01]€0.011<0.011<0.01/<0.01/<0.01[<0.01]<0.01|<0.01|<0.01]<0.01|<0.01|  <0.01
23k 5%15%] €0.01] <0.01|<0.01|<0.01/<0.01/<0.01|<0.01]<0.01|<0.01|<0.01|<0.01|<0.01|  <0.01
SE#[<€0.01]<0.01]<0.01]<0.01|<0.01|<0.01|<0.01|<0.01|<0.01/<0.01/<0.01|<0.01| <0.01
mi%] 30| 31| 30| 31] 31, 30| 31 30/ 31| 31| 28] 3l 365
fxr] 0.60 | 0.52 1 0.52 | 0.70 | 0.80 | 0.74 | 0.74 | 0.66 | 0.56 | 0.44 | 0.42 | 0.46 0.80
TR Bl ok %] 0.36 | 0.34 | 0.40 | 0.50 | 0.48 | 0.48 | 0.54 | 0.46 | 0.34 | 0.32 | 0.34 | 0.32 0.32
(mg/L) SEE| 0.47 | 0.44 | 0.45 | 0.62 | 0.67 | 0.63 | 0.63 | 0.55 | 0.46 | 0.40 | 0.39 | 0.40 0.51
miEl 120 ] 124 | 120 ] 124 | 124 | 119 ] 124 | 120 | 124 | 124 | 112 | 124 | 1459
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